Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKLmst no MoHTaxy 1 obcnyxvBanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF S Y]

A

Dear Customer

Thank you for choosing our pro-
duct. We hope the item you have
purchased can fulfill all your expec-
tations our products are techno-
logically advanced and designed
on the basis of our many years of
experience in the production of
sanitary fittings.

Sehr geehrte Damen und Herren

Wir bedanken uns fiir die Wahl
unseres Produktes. Wir hoffen,
dass wir mit unserem technolo-
gisch fortgeschrittenen Produkt,
dass auf Basis mehrjahrigen
Erfahrungen bei der Produktion
von Sanitdrarmaturen entwickelt
wurde, Ihre Erwartungen erfiillt
haben.

P F |

Cher Client

Nous vous remercions pour savoir
choisi notre produit. Nous som-
mes certains de pouvoir satisfaire
pleinement a vos attentes gréce
a notre riche offre de produits d'un
niveau technologique avancé qui
résulte de notre longue expérien-
ce en fabrication de la robinetterie
et des accessoires des salles de
bains.

P RUS

Yeakaemble 2ocnoda

bnazodapum 3a 8bI60p Hawe20
npodykma. Hadeemcs, Ymo nor-
Hocmblo  ydosnemsopum Bawu
oxudaHusi, 880051 8 aKcniyama-
YUK MEXHOMO2UYECKU YCOBEPUIEH
cmeogaHHoe u30erue, 3anpoek-
muposaHHoe Ha 6ase MHO20-
nlemHe20 onbima 8 obnacmu
npouseodcmea caHumapHol

DUSCHSATZ
KIT DE DOUCHE

KOMIMMNEKT AnA aYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

Muy Senores Mios

Les agradecemos por elegir
nuestro producto. Esperamos que
cumplamos Sus deseos entre-
gandoles un producto de una
tecnologia avanzada, disenado
a base de la experiencia de
muchos anos en la produccion de
accesorios sanitarios.

ATTENTION!

For care, use soft towel with soap and water only! Under no circumstances should you
use any chemicals.

ATTENTION!

Pour le nettoyage utiliser seulement une serviette douce, du savon et de I'eau!
Enaucun cas n'utiliser les produits chimiques quelconques!

ATENCION!

circunstancia no use productos quimicos.

Para el cuidado, utilice solamente una toalla suave con jabén y aqua! Bajo ninguna

apmamypbi.

P P

Drodzy Panstwo

Dzigkujemy za wybdr naszego
produktu. Mamy nadzieje, ze
w petni spetnimy Paristwa oczeki-
wania oddajac do uzytku wyréb
zaawansowany technologicznie,
zaprojektowany w oparciu o wielo-
letnie do$wiadczenie w produkcji
armatury sanitarne.

ACHTUNG!

Verunreinigungen bitten wir mittels Wasser mit Seife und mit weichem Lappen
beseitigen! In keinem Falle chemische Mittel verwenden.

3arpsisHeHus cnegyeT yaansTb BOAOW C MbINOM W MSArKoi Tpsinoykoit! Hu B koem
Cry4ae Henb3s MPUMEHSTb XMMUYECKIe CPEACTBa.

Zanieczyszczenia prosze usuwac stosujac wode z mydtem oraz migkka szmatke!
W zadnym przypadku nie wolno stosowa¢ $rodkéw chemicznych.

~1212

~883

G1/2

&3 P 0 |
s For assembly you will need: w Bei der Montagewerden benatigt:
an adjustable spanner, verstellbarer Schliissel,
pliers, Kombizange,
teflon tape, Teflonband,
silicon or other sealant. Silikon oder anderes
Dichtungsmittel.
P F | P Rus|
s |es outils nécessaires pour le w1151 MOHTaXa Heo6XoAUMbI:
montage: Pa3BOAHON K1Y,
La clef & ouverture variable, nnockory6ul,
La pince universelle, TehnoHoBas NexTa,
La bande Téflon, CUIIUKOH UMK ApYrom
Le silicone ou une autre YANOTHUTENb.
garniture d'étanchéité.
QUBIC TRE
P | P pL |
m Para el montaje se necesitan: w Do montazu potrzebne sa:
llave ajustable, klucz nastawny,
alicates universales, kombinerki,
TARGA/SADE cinta de teflon, tasma teflonowa,
silicona u otro tipo de material de silikon lub inny uszczelniacz.
% /:I estancar.
IMMERSION
C w  SPECIFICATION:
Operating pressure: 0,05 - 1,0 MPa
Operating temperature: 4°C - 90°C
STEALTH ﬂ
w BETRIEBSPARAMETER:
[ Betriebsuberdruck: 0,05 - 1,0 MPa
Betriebstemperatur: 4°C — 90°C
MANHATTAN w PARAMCTRES DE FONCTIONNEMENT:
Pression de service: 0,05 - 1,0 MPa
\:\ [I] Température de service: 4°C - 90°C
w PABOYME MAPAMETPbI:
FONTAINE Pa6ouee gasnetue: 0,05 - 1,0 MMa
Pabouas Temnepatypa: 4°C — 90°C
g G = PARAMETROS DE TRABAJO:
Presion de trabajo: 0,05 - 1,0 MPa
SOLAR/STRUCTURE Temperatura de trabajo: 4°C — 90°C
|:| Cﬂ w PARAMETRY PRACY:
Ciénienie robocze: 0,05 - 1,0 MPa
Temperatura robocza: 4°C - 90°C

10G 2334.00 K= I NG U I ET

Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * MHcTpykUms no MoHTaxy 1 obenyxusanmio « Instruccion de Montaje y Servicio « Instrukcja Montazu i Obstugi

DUSCHSATZ

KIT DE DOUCHE
KOMIMMNEKT Ana aYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

P 1

10G 2334.00 K= I NG UK I ET 2 Rev. 9 May 2017




Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « MHcTpykUms no MoHTaxy 1 obenyxusanmio « Instruccion de Montaje y Servicio « Instrukcja Montazu i Obstugi

GRAFF i Y]

B cB)

P D |

43

PP RUS

DUSCHSATZ

KIT DE DOUCHE
KOMMMEKT Ana aYyLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

P E |

PP

© 0N URWN >

—= a
N = o

14
15A
15
16
17

18

19A

19

21

23
24
25
26

27

28BS

32

88

37

39
40
41

Shower body assembly
(complete)

Shower body

Mixer @40mm

Mixer nut

Decorative cap

Lever

M4x4 screw with 6kt head
Connector

Slip ring

O-ring 16x2.65

Nut G3/4

Flat washer 24/16x2.8
Dog-leg connector
G3/4-G1/2

Rosette ring

Shower arm - lower assembly
Shower arm - lower

Switch

Connector G1/2 for shower
hose

M5x6 screw with 6kt socket
(3 pieces)

Shower arm - upper assembly
Shower arm - upper

0O-ring 6.8x1.9 (4 pcs.)

Connector G1/2 for shower
head

Support for arm

M8x20 screw with 6kt head

Connector

Rosette ring for support unit
Washer for the rosette ring

Installation holder

M5x6 screw with 6kt head
Wall plug (3 pcs.)

Fixing screw (3 pcs.)

Flat washer

Shower head

8" (196x196x7)

Mounting point

M5x4 screw with 6kt head
Fixing sleeve (2 pcs.)
Wall plug (2 pcs.)

Fixing screw (2 pcs.)
Shower handset

Shower hose G1/2-1500mm
Flat washer (2 pcs.)

Hole plug

2 mm hexagon key

2.5 mm hexagon key

Duschkérper kpl. (komplett)

Duschkérper

Wassermischer @40mm

Mutter Wassermischer
Zierkappe

Hebel

Schraube Mé4x4 mit Innensechskant
Verbinder

Gleitring

O-Ring-Dichtung 16x2.65

Mutter G3/4

Flachdichtung 24/16x2.8
Exzenterverbinder

G3/4-G1/2

Rosette

Duscharm - unten kpl.
Duscharm - unten

Umschalter

Anschluss des Duschschlauches
G1/2

Schraube M5x6 mit
Innensechskant (3 Stk.)
Duscharm - oben kpl.

Duscharm - oben
O-Ring-Dichtung 6.8x1.9 (4 Stk.)

Anschluss der Uberkopfbrause
G112

Armbefestigung

Schraube M8x20 mit Innensechskant
Verbinder

Griffrosette

Rosettendichtung

Montagegriff

Schraube M5x6 mit Innensechskant
Spreizdiibel (3 Stk.)
Montagenschraube (3 Stk.)
Flachdichtung

Uberkopfbrause 8" (196x196x7)

Punkthalter

Schraube M5x4 mit Innensechskant
Montagehiilse (2 Stk.)
Spreizdiibel (2 Stk.)
Montagenschraube (2 Stk.)
Handduschkopf

Duschschlauch G1/2-1500mm
Flachdichtung (2 Stk.)
Blindplatte
Innensechskantschlissel 2 mm
Innensechskantschllissel 2,5 mm

Colonne de douche (kit complet)

Colonne de douche

Mitigeur @40mm

Ecrou du mitigeur

Capuchon décoratif

Levier

Vis M4x4 f empreinte cruciforme 6kt
Raccord

Bague collectrice

Joint de type o-ring 16x2.65

Ecrou G3/4

Joint plat 24/16x2.8

Raccord excentré

G3/4-G1/2

Rosace

Bras de douche (partie basse-complcte)
Bras de douche (bas)

Commutateur

Commutateur G1/2 du tuyau de
douche

Vis M5x6 f empreinte cruciforme 6kt
(quantité 3)

Bras de douche (partie haute compléte)
Bras de douche haut

Joint de type o-ring 6.8x1.9
(quantité 4)

Raccord G1/2 du pommeau de
douche

Fixation du bras de douche

Vis M8x20 f empreinte cruciforme 6kt
Raccord

Rosace du point de fixation

Joint de la rosace

Point de montage

Vis M5x6 f empreinte cruciforme 6kt
Cheville expansible (quantité 3)

Vis de montage (quantité 3)

Joint plat

Tete de douche 8" (196x196x7)

Support de fixation de la douche
Vis M5x4 f empreinte cruciforme 6kt
Manchon de montage (quantité 2)
Cheville expansible (quantité 2)
Vis de montage (quantité 2)
Pommeau de douche téléphone
Tuyau de douche G1/2-1500 mm
Joint plat (quantité 2)

Obturateur

Clef Allen 2 mm

Clef Allen 2,5 mm

Kopnyc pywa komnn. (komnmekT)

Kopnyc nyLweBoro kpaHa
Cmecutens @40Mm

laitka cmecuTens
[lexopaTuBHbIA Konnavok
PykosiTka kpaHa

Bont M4x4 ¢ rHeanom 6kt
CoeanHuTens

KoHTakTHOe KkonbLo
YnnoTHeHue Tuna o-ring 16x2.65
lalika G3/4

lMnockas npoknagka 24/16x2.8
OKCLIEHTPUKOBbII COEAMHUTENb
G3/4-G1/2

[lexopaTVBHbIN aneMeHT
KpOHLUTEMH yLua - HKHUA koM.
KpOHLLTENH AyLua - HUXHUA
lMepekniovatens
IMpucoeanHerre G1/2 wnawxra
Aywa

Bont M5x6 ¢ rHeagom 6kt (3 LwT.)

KpoHLUTelH AyLua - BEpXHWit KoMn.
KpOHLLTeNH AyLa - BEpXHUA
YnnotHeHue T1na o-ring 6.8x1.9
(4 wr.)

MpucoeamnHeHne G1/2 ronosku
Aywa

KpenneHue KpoHLITEnHa

Bont M8x20 ¢ rHe3gom 6kt
CoeanHuTenb

[lexopaTvBHbIt ANeMeHT Aepxartens
YnnotHuTenbHas npoknazka
[AeKopaTUBHOTO 3neMeHTa
MoHTaxHBI fepkaTenb

Bont M5x6 ¢ rHesaom 6kt
PacnopHbiii konbituek (3 wr.)
MoHTaxHbIit 6onT (3 Wr.)

[Mnockas npoknagka

[lywesasi ronoska 8" (196x196x7)

HacTeHHbIit aepxatens
Bont M5x4 ¢ rHe3nom 6kt
MoHTaxHas BTynKa (2 r.)
PacnopHbiii KonblLuek (2 .)
MoHTaxHbI 6onT (2 WT.)
PyyHoit gyw

[ywesoit wnaur G1/2-1500Mm
lMnockas npoknagka (2 wr.)
3arnyLwka

LLlecTUrpaHHbIi Koy 2MM
LLlecTurpanHbIi koY 2,5MM

Cuerpo ducha juego (completo)

Cuerpo ducha

Mezclador @40mm

Tuerca mezclador
Caperuza ornamento
Palanca

Tomillo M4x4 con asiento hexagonal
Pieza de union

Anillo deslizante

Junta tdrica 16x2.65

Tuerca G3/4

Junta plana 24/16x2.8
Pieza de union excéntrica
G3/4-G1/2

Roseta

Brazo ducha - inferior juego
Brazo ducha - inferior
Conmutador

Racor G1/2 manguito ducha

Tornillo M5x6 con asiento
hexagonal (3 unidades)

Brazo ducha superior juego
Brazo ducha superior

Junta térica 6.8x1.9 (4 unidades)

Racor G1/2 cabezal ducha

Sujecion brazo

Tomnillo M8x20 con asiento hexagonal
Pieza de union

Roseta mango

Junta roseta

Mango de instalacion

Tornillo M5x6 con asiento hexagonal
Pasador (3 unidades)

Tomillo de instalacion (3 unidades)
Junta plana

Cabezal ducha 8" (196x196x7)

Mango

Tomillo M5x4 con asiento hexagonal
Casquillo de instalacion (2 unidades)
Pasador (2 unidades)

Tornillo de instalacion (2 unidades)
Auricular ducha

Mangusto ducha G1/2-1500mm
Junta plana (2 unidades)
Obturador

Lallave allén 2 mm

La llave allén 2,5 mm

Korpus natrysku (kompletny)

Korpus natrysku

Mieszacz @40mm

Nakretka mieszacza

Kotpak ozdobny

Dzwignia

Wkret M4x4 z gniazdem 6kt
tacznik

Pierscien $lizgowy

Uszczelka typu o-ring 16x2.65
Nakretka G3/4

Uszczelka ptaska 24/16x2.8
tacznik mimosrodowy
G3/4-G112

Rozeta

Ramig natrysku - dolne kpl.
Ramig natrysku - dolne
Przefacznik

Przytacze G1/2 weza natrysku

Wkret M5x6 z gniazdem 6kt
(3szt)

Ramig natrysku - gérne kpl.
Ramig natrysku - gérne
Uszczelka typu o-ring 6.8x1.9
(4 szt.)

Przytacze G1/2 glowicy
natrysku

Mocowanie ramienia

Wkret M8x20 z gniazdem 6kt
tacznik

Rozeta uchwytu

Uszczelka rozety

Uchwyt montazowy

Wkret M5x6 z gniazdem 6kt
Kotek rozporowy (3 szt.)
Wkret montazowy (3 szt.)
Uszczelka ptaska

Glowica natryskowa

8" (196x196x7)

Uchwyt punktowy

Wkret M5x4 z gniazdem 6kt
Tulejka montazowa (2 szt.)
Kotek rozporowy (2 szt.)
Wkret montazowy (2 szt.)
Stuchawka natrysku

Waz natrysku G1/2-1500mm
Uszczelka ptaska (2 szt.)
Zaslepka

Kluczyk imbusowy 2 mm
Kluczyk imbusowy 2,5 mm

10G 2334.00 K= I G UK I ET

Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKkumst no MoHTaxy 1 obcnyxvsanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF

CUTTING EDGE DESIGN

SHOWER ASSEMBLY |

DUSCHSATZ
KIT DE DOUCHE
KOMMNNEKT anAa AYyLWA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY
Assembly dimensions ¢ Einbaumasse ¢ Cotes de montage * MoHtaxHas Bbicota
Dimensiones de montaje ¢ Wymiary montazowe
I
I
I
I
I
a4 P> 185 m M ~2,35m
[ >P> | 1,75m-1,85m M ~2,25 m
£ (o >P> [165m-1,75m | M ~2,15m
3 ‘ >p 1,65 m M ~2,00 m
ISe) I
1 IR
\
: . P> 185 m H ~1,22 m
| \\ >P> [1,75m-185m | H ~1,12 m
: | >P> [165m-175m | H ~1,02 m
| 2P 1,65 m H ~0,92 m
I ! o
I
I
I
[ 2|
SHOWERBODY ASSEMBLY
Seefig.2.1-2.4
w The hotand cold water supply system should be installed and the mixer tap connected observing the following recommendations:
m»  The hot water coupling should be located on the right and the cold water coupling should be located on the left,
wcoupling spacing: 150 + 14 mm,
w  Recommended installation height for the mixer tap: 900-1000 mm from the finished floor.
s Fit the dog-leg connectors (12) to the pipe sections where they exit the wall, first sealing them with teflon tape or other sealant, making sure that the dog-leg connector outlets are set at equal height with the end faces
atequal distances from the wall and that the distance between openings matches the distance between those of the connecting nuts (10) of the shower body (1A).
s Screw the rosette rings (14) onto the dog-leg connectors (12) until a visible resistance is felt.
s |nsertthe gaskets (11) into the connecting nuts (10) and screw them onto the dog-leg connectors (12). Check the tightness of the connection after assembly.

10G 2334.00 K= I NG UK I ET

Rev. 10 September 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKLmsi no MoHTaxy 1 obcnyxwBanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF

cuTTING

EDeE DESIGN

SHOWER ASSEMBLY

DUSCHSATZ

KIT DE DOUCHE
KOMMMNEKT Ana aYyLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

-
-
-
-
I

s
3

MONTAGE DES DUSCHKORPERS
Siehe Zeichnung 2.1-2.4

Installieren Sie die Warm- und Kaltwasseranlage an der fiir die Batteriemontage vorgesehenen Stelle gemaR den unten genannten Hinweisen:

der Warmwasseranschluss ist links und der Kaltwasseranschluss rechts anzubringen,
derAbstand der Anschllsse sollte im Bereich: 150 + 14 mmliegen,
die empfohlene Hohe der Batteriemontage sollte 900-1000 mm vom FuRbodenausbau betragen.

In die mit dem Innengewinde G1/2" abgeschlossenen Strecken sind die Exzenterverbinder (12) einzudrehen und die Verbindungen mit dem PTFE-Band (oder mit einem anderen Dichtmittel) abzudichten zu
beachten ist, dass die Offnungsachsen der Exzenter (12) von der Gewindeseite G3/4” auf derselben Hohe liegen, die Stimflachen im gleichem Abstand von der Wand liegen, und der Offnungsabstand dem Abstand

derAchsen der Anschlussmutter (10) des Duschkérpers (1A) entspricht.
Aufdie Zierhiilsen (12) die Rosetten (14) bis zum spiirbaren Widerstand aufschrauben.

In die Anschlussmuttern (10) Dichtungen (10) einlegen und sie auf die Exzenterverbinder aufschrauben, nach der Montage die Verbindungen auf Dichtigkeit priifen.

MONTAGE DE LACOLONNE DE DOUCHE

P RUS

MOHTAX KOPMYCA AIYLLEBOIO KPAHA

trasinstalar compruebe la estanquidad de las uniones.

Voirelafigure 2.1-2.4 Cwm.puc.2.1-2.4

w Installez les arrivées d'eau chaude et d'eau froide a I'emplacement ol vous souhaitez installez les w» [MogsecTvt WwnaHm Ana ropayer v XonoaHoOM Bodbl K MECTY MOHTaXa CMECUTENs B COOTBETCTBUM
robinets, en respectant les consignes suivantes : CyKasaH1sIMU:

s |asortie d'eau chaude doit se trouver du c6té gauche, celle d'eau froide du c6té droit, m 10ACOEANHEHNE ropsyelt BOAb! [JOMKHO ObiTb C NEBOIA CTOPOHbI, NOACOEANHEHNE XONOAHON BOAbI

w |a distance entre les deux sorties doit étre comprise entre: 150 £ 14 mm, CMPaBOV CTOPOHBI,

sl est conseillé de monter les robinets & une hauteur de : 900-1 000 mm a partir du sol posé. - PACCTOSHNE MEX 1Y NOACOEAMHEHNAMM AOIKHO COCTaBNATL He Gonee 150 + 14mm,

- Vissez les raccords excentrés (12) dans les segments de I'installation terminés par un filetage intérieur w»  pexomenpyetcs ycraHasnmMBaTh cMecuTenb Ha Bbicote 900-1000MM OT OKOHYATENBHOIO YPOBHS NONA.
G1/2", en gamissant les raccords de bande en téflon (ou d'un autre produit assurant I'étanchéité) we Ha koHubI ¢ BHYTPeHHeil pe3bBoil G1/2", BBUHTUTE SKCLEHTPUKOBbIE coeanHuTenu (12), ynnoTHaa
vérifiez que les axes des orifices des raccords excentrés (12) situés du coté du filetage G3/4” se COoeANHEHHe TEIIOHOBOI IEHTON (UMW APYTMM YNTOTHSIOLMM MaTepuasiom) obpalLaiite BHAMaHe
trouvent a hauteur identique, que les surfaces frontales sont a distance égale du mur et que la distance Ha T0, 4T0GbI OCY OTBEPCTHIA AKCLEHTPMKOB (12) CO CTOPOHbI pe3bbbl G3/4” pacnonaranice Ha OfHOM
entre les orifices est égale a la distance entre les axes des écrous de raccordement (10) de la colonne BbICOTE, TOPLEBbIE MOBEPXHOCTW Ha OAMHAKOBOM PACCTOSIHUM OT CTEHbl, @ PACCTOSHUE MEXMy
dedouche (1A). OTBEPCTUSIMM PABHANOCH PAcCTosHI0 Mexay ocsimu rae (10) B kopriyce cvecutens (1A).

w Vissez les rosaces (14) sur les manchons décoratifs (12) jusqu'a ce que vous sentiez une nette w  HapuHTHTe fekopaTUBHbIN anieMeHT (14) Ha aekopaTuBHbIe BTYNKM (12) 4o ynopa.
résistance. m  Bnoxute B raiku (10) ynnoTHuTenbHble npoknagki (11) 1 HaBUHTUTE UX HA 3KCLIEHTPUKOBbIE

m  Placez les joints (11) a lintérieur des écrous de raccordement (10) et vissez-les sur les raccords coefnHuTent (12), o OKOHYaHUV NPOBEPbLTE rePMETUYHOCTL COEANHEHMIA.
excentrés (12); apres avoir effectué ce montage, vérifiez I'étanchéité des raccordements.

- P pL

INSTALACION DEL CUERPO DE DUCHA MONTAZ KORPUSU NATRYSKU

Verfig.2.1-2.4 Zob.rys.2.1-2.4

s Conecte lainstalacion del agua caliente y fria al lugar de instalar la bateria siguiendo las recomendaciones: ™ Doprowadz instalacje cieptej i zimnej wody w miejsce montazu baterii zgodnie z zaleceniami:

|3 acometida del agua caliente por el lado izquierdo, laacometida de la fria, por el derecho, s przytacze wody cieptej wykonaj po stronie lewej, przytacze wody zimnej po prawej,

s |adistancia ente las acometidas debe caber dentro de los limites: 150 + 14 mm, e rozstaw przytaczy musi sie miescic w zakresie: 150 + 14 mm,

|3 alturarecomendada de la instalacion de la bateria: 900-1000mm sobre el nivel del suelo. s zalecana wysoko$¢ montazu baterii: 900-1000mm od wykoriczonej podtogi.

s En las secciones de la instalacion acabadas con rosca interna G1/2” enrosque las piezas de unién = Do odcinkéw instalacji zakonczonych gwintem wewnetrznym G1/2” wkre¢ faczniki mimosrodowe (12),
excéntricas (12), aislando las uniones con la cinta de teflén (u otro tipo de guarniciones) haga caso que uszczelniajac potaczenia tasma teflonowa (lub innymi uszczelniaczami) - zwréci¢ uwage na to, aby osie
los ejes excéntricos (12) por el lado de la rosca G3/4” se encuentren en la misma altura, las superficies otworéw mimosrodéw (12) od strony gwintu G3/4” byly na jednej wysokosci, powierzchnie czotowe
frontales tengan la misma distancia de la pared, y el espacio entre los huecos sea igual que la distancia w jednakowej odlegtosci od $ciany, a odstep otworéw byt réwny odlegtosci osi nakretek przytaczenio-
entre los ejes de las tuercas (10) del cuerpo ducha (1A). wych (10) korpusu natrysku (1A).

- Enlos casquillos ornamentos (12) meta las rosetas (14) hasta el momento de sentir la resistencia. s Na tacznik mimosrodowy (12) nakre¢ rozety (14) do momentu odczucia wyraznego oporu.

= Meta dentro de las tuercas (10) las juntas (11) y enrésquelas en las piezas de union excéntricas (12), w Wi6z do nakretek przylaczeniowych (10) uszczelki (11) i nakrecié je na taczniki mimosrodowe (12), po

zmontowaniu sprawdz szczelno$¢ potaczen.

10G 2334.00 K= I G UK I ET

Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpykumst no MoHTaxy 1 obcnyxvsanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF S Y]

DUSCHSATZ

KIT DE DOUCHE
KOMIMMNEKT Ana AYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

LOWERAND UPPERARMASSEMBLY AND THE SHOWER HEAD
See fig. 3.1-3.6

s Insert the connector pipes with the o-rings of the upper arm of the shower (19) into the lower pipe of the shower (15). Set the parts (19) and (15) in the correct position and fit the screws (18) using a hexagon key
(B). Set the fixing element (22) in the correct position.

s Slide the assembly holder (27) onto the connector (24). Slide the lower end of the arm of the shower (15) onto the connector pipe with the o-ring (7) of the shower body (A1).

m Set the installation holder (27) correctly on the wall (see fig. 3.3) and mark the 2 points for installing the wall plugs. Slide out the complete shower arm from the connector pipe (7) of the shower body and place it
on the side, slide the installation holder (27) from the connector (24).

w Drill 2x @ 6 mm holes (see fig. 3.3), insert wall plugs (29) to the holes and attach the installation holder (27) to the wall.

s Put the rosette ring (25) with gasket (26) on the connector (24). Slide the lower end of the arm of the shower (15) onto the connector pipe with o-ring (7) of the shower body (A1) and slide the connector (24) into
the installation holder (27) Set the complete shower arm in the correct position and screw in the screws (18) and (28) using a hexagon key (B). Slide the rosette ring (25) with its gasket (26) onto the installation
holder (27). Slide the rosette ring to the finishing wall.

" Screw the shower header nut (32) onto the connector (21) in the upper shower (19). Pay attention to the correct position of the flat gasket (31) in the shower head nut (32).

@41mm

1%
3x@6mm O @

10G 2334.00 K= I G UK I ET 5 Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKumst no MoHTaxy 1 obcnyxwsanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF A Ty

DUSCHSATZ

KIT DE DOUCHE
KOMIMMNEKT Ana AYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

B 3.4

3.5

-

-

-

S

i

(3

MONTAGE DES UNTEREN UND OBEREN ARMES UND DER UBERKOPFBRAUSE
Siehe Zeichnung  3.1-3.6

Den Stutzen mit den O-Ringen des oberen Duscharmes (19) in den unteren Duscharm (15)
einschieben. Die Teile (19) und (15) in richtiger Stellung (18) positionieren und mit dem Innensech-
skantschliissel (B) festziehen. Das Befestigungselement (22) in richtiger Lage positionieren.

Auf den Verbinder (24) den Montagehalter (27) aufschieben. Die untere Endung des Duscharmes
(15) auf den Stutzen mit dem O-Ring (7) des Duschkérpers (A1) aufschieben.

Den Montagehalter (27) in richtiger Stellung an der Wand (gemaR Abb. 3.3) positionieren und 2
Punkte fiir die Montagedibel markieren. Aus dem Stutzen (7) des Duschkérpers den kompletten
Duscharm aufschieben und zur Seite ablegen, aus dem Verbinder (24) den Montagehalter (27)
herausschieben.

Bohren Sie 2 Offiungen @ 6 mm (gemaR Abb. 3.3), legen Sie die Spreizdiibel (29) in die Offnungen
und befestigen Sie den Montagehalter (27) mittels Schrauben (30) an der Wand.

Auf den Verbinder (24) die Rosette (25) mit der Dichtung (26) aufsetzen. Die untere Endung des
Duscharmes (15) auf den Stutzen mit dem O-Ring (7) des Duschkdrpers (A1) aufschieben, den
Verbinder (24) in die Montagedffnung (27) einschieben. Den kompletten Duscharm in richtiger
Stellung positionieren, anschlieBend die Schrauben (18) und (28) mit dem Innensechskantschliissel
(B) zudrehen. Die Rosette (25) mit der Dichtung (26) auf den Montagehalter (27) aufschieben. Die
Buchse an die Flache der Ausbauwand heranschieben.

Auf den Anschluss (21) im oberen Duscharm (19) die Mutter der Uberkopfbrause (32) aufdrehen.
Beachten Sie die richtige Lage der Flachdichtung (31) in der Kopfmutter (32).

JE

MONTAGE DU BRAS SUPERIEUR, INFERIEUR ET DE LA TETE DE LADOUCHE
Voire lafigure 3.1-3.6

s [ntroduisez le manchon avec les o-rings du bras supérieur de la douche (19) dans le bras inférieur de
la douche (15). Placez les piéces (19) et (15) dans la bonne position et serrez les vis (18) a l'aide
d’une clef Allen (B). Placez la fixation du bras de douche dans la bonne position (22).

" Enfilez le point de montage (27) sur le raccord (24). Enfilez 'extrémité basse du bras de la douche
(15) sur le manchon équipé d’un o-ring (7) de la colonne de douche (A1).

w Placez la fixation du bras de douche au bon endroit sur le mur (27) (conformément au dessin 3.3) et
faites trois marques, indiquant les 2 points ou doivent se trouver les chevilles de montage. Sortez le
bras de douche complet du manchon (7) de la colonne de douche et mettez-le de coté, sortez la
fixation du bras de douche (27) en la faisant glisser du raccord (24).

m Percez 2 trous de @6 mm (conformément au dessin 3.3), mettez dedans les chevilles expansibles
(29) et installez la fixation du bras de douche (27) sur le mur a l'aide des vis (30).

w Placez la rosace (25) avec le joint (26) sur le raccord (24). Enfilez 'extrémité du bras de la douche
(15) sur le manchon équipé du o-ring (7) de la colonne de douche (A1), placez le raccord (24) dans
la fixation du bras de douche (27). Placez le bras de la douche complet dans la bonne position, puis
serrez les vis (18) et (28) a l'aide d'une clef Allen (B). Enfilez une rosace (25) et un joint (26) sur le
point de montage (27). Rapprochez-la de la paroi de finition de la douche.

w \issez I'écrou de la téte de douche (32) sur le raccord (21) du bras supérieur de la douche (19) puis
vissez I'écrou de la téte de douche. Assurez-vous du bon positionnement du joint plat (31) dans
I'écrou de la téte de douche (32).

10G 2334.00 K= I NG UK I ET

Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * MHcTpykUms no MoHTaxy 1 obenyxusanmio « Instruccion de Montaje y Servicio « Instrukcja Montazu i Obstugi

GRAFF i Y]

DUSCHSATZ

KIT DE DOUCHE
KOMMMNEKT Ana aYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

P RUS -3

MOHTAX HWKHEIO U BEPXHEIO KPOHLUTEMHA U BYLLEBOW rONOBKK INSTALACION DE LOS BRAZOS INFERIOR, SUPERIORY EL CABEZAL DE DUCHA
Cwm.puc. 3.1-3.6 Verfig. 3.1-3.6
s BcTaBbTe NaTpyGOK BEPXHErO KpOHLLTEHa Aywwa (19) ¢ ynnoTHEHUsIMK 0-ring B HWXKHUI kpoHiuTeiH w Meta el racor con las juntas téricas del brazo superior de ducha (19) en el brazo interior de ducha (15).
pywa (15). Otperynupyiite yctaHoBky anemeHToB (19) v (15) B HyHOM nonoxeHnm v 3aTsaHuTe 6onThbl Coloque las piezas (19) y (15) en la posicion adecuada y enrosque los tornillos (18) usando la llave allén
(18) ¢ nomoLLbto LWeCTUrpaHHoro Krtoya (B). YCTaHoBHTE B HYXHOM NONOXEHUN KpeneXHbIil SnemMeHT (B). Coloque en la posicion adecuada el elemento de sujecion (22).
(22). w En la pieza de union (24) meta el mango de instalacion (27). El extremo inferior del brazo de ducha (15)
m Ha coeguHuTenb (24) HafeHbTE MOHTaXHbIN AepkaTenb (27). HukHWI koHew KpoHLTetHa fyLa (15) meta en el racor con lajuntatorica (7) del cuerpo ducha (1A).
HafieHbTe Ha naTpybok ¢ ynnoTHeHnem o-ring (7) Ha kopnyce ayleBoro kpaHa (1A). w Coloque el mango de instalacion (27) en la posicion adecuada en la pared (ver la fig. 3.3) y marque 2
- YCTAHOBUTE B HYXHOM MOMOXEHUM HA CTEHE MOHTaXHbII Aepxatenb (27) (B cooTs. ¢ puc. 3.3) n puntos para pasadores. Quite del racor (7) del cuerpo de ducha el brazo completo y péngalo a lado,
pa3MeTbTe 2 MyHKTa MO MOHTaXHbIE KOMbILLKWA. V13BnekuTe 13 natpybka (7) kopnyca AyLua KpOHLITENH quite de la pieza de union (24) el mango de instalacion (27).
AyLUa 1 OTNoXuTe COOKY, CHUMUTE C COeMHUTENS (24) MOHTaXHbIN AepxaTen (27). w  Taladre 2 agujeros @6 mm (ver la fig. 3.3), meta dentro los pasadores (29), sujete el mango de
- BbicBepnuTe 2 0TBEPCTIS 6 MM (B COOTB. C pUC. 3.3), BCTaBbTE B OTBEPCTUS PACMOPHbIE KOMbILLIKY (29), instalacion (27) en la pared usando los tornillos (30).
C MOMOLL|b0 MOHTaXHBIX 6011TOB (30) MPUKPENUTE MOHTaXHBI epxaTens (27) k CTeHe. w Enlapieza de union (24) meta laroseta (25) con la junta (26). El extremo inferior del brazo de ducha (15)
- HanieHbTe AeKopaTUBHbIA 3MeMeHT (25) C ynnoTHeHUTeNbHO npoknaakon (26) Ha coepuHuTens  (24). meta en el racor con lajunta térica (7) del cuerpo de ducha (1A), meta la pieza de union (24) en el mango
HuHUiA KoHeL| KpoHLLITeNHa aywa (15) HapeHbTe Ha naTpybok ¢ ynnoTHeHWeM o-ring (7) Ha kopnyce de instalacion (27). Coloque el brazo completo de ducha en la posicion adecuada, luego enrosque los
nylwesoro kpaHa (1A), coeanHuTens (24) BCTaBbTE B MOHTaXHbI Aepxatens (27). Otperynupyitre tornillos (18) y (28) usando la llave allén (B). Meta la roseta (25) con la junta (26) en el mango de
YCTaHOBKY KOMMIEKTHOTO KPOHLLTENHA JyLUa B HYXHOM NONOXeHUM, a 3aTeM 3atsaHute 6onTbi (18) v (28) ¢ instalacion (27). Apriétela contra la superficie de la pared.
MOMOLLbIO LLECTUTPaHHOTO Krkoya (B). HapeHbTe AexopatuBHbIf anemeHT (25) ¢ yrnotHeHwem (26) Ha ' En el racor (21) en el brazo superior de la ducha (19) enrosque la tuerca del cabezal de ducha (32).
MOHTaXHbIV Aepxatens (27). MepeaBuHbTe ero BNoTh A0 MOMHOCTbIO OTAENAHHON NOBEPXHOCTY CTEHbI. Fijese enla posicion adecuada de lajunta plana (31) en la tuerca del cabezal (32).

m  Ha nofcoeauHeHue (21) B BepxHem KpoHLUTeiHe AyLa (19) HaBUHTUTE raiiky fyLLeBoii ronoBky (32).
OG6paLLiiTe BHUIMaHIe Ha NPaBIUMbHOE NOMOXEHWE NNOCKON YNAOTHUTENLHON Npoknaaky (31) B raiike
ronoskiu (32).

PP

MONTAZ RAMIENIADOLNEGO, GORNEGO | GLOWICY NATRYSKU
Zob.rys. 3.1-3.6

s Wsun kréciec z o-ringami gérnego ramienia natrysku (19) do dolnego ramienia natrysku (15). Ustaw cze$ci (19) i (15) we wiasciwej pozycji i dokre¢ wkrety (18) kluczykiem imbusowym (B). Ustaw we wiasciwej
pozycji element mocujacy (22).

s Natacznik (24) nasun uchwyt montazowy (27). Dolng koricéwke ramienia natrysku (15) nasun na kréciec z o-ringiem (7) korpusu natrysku (1A).

- Ustaw we wiasciwej pozycji na Scianie uchwyt montazowy (27) (zgodnie z rys. 3.3) i odznacz 2 punkty pod kotki montazowe. Wysun z kré¢ca (7) korpusu natrysku kompletne ramig natrysku i odtéz je na bok, zsun
zlacznika (24) uchwyt montazowy (27).

e Wywier¢ 2 otwory @6 mm (zgodnie z rys. 3.3), wioz kotki rozporowe (29) do otworéw, przymocuj uchwyt montazowy (27) do Sciany wkretami (30).

s Na facznik (24) natoz rozete (25) z uszczelka (26). Dolng koricdwke ramienia natrysku (15) nasun na kréciec z o-ringiem (7) korpusu natrysku (1A), facznik (24) wsui w uchwyt montazowy (27). Ustaw kompletne
ramie natrysku we wiasciwej pozycji, nastepnie dokre¢ wkrety (18) i (28) kluczem imbusowym (B). Nasun rozete (25) z uszczelka (26) na uchwyt montazowy (27). Dosuri ja do powierzchni $ciany wykoriczeniowe.

w Na przytacze (21) w gérnym ramieniu natrysku (19) nakre¢ nakretke gtowicy natryskowej (32). Zwré¢ uwage na poprawne utozenie uszczelki ptaskiej (31) w nakretce gtowicy (32).

P 0

SHOWER SETWITHAHOLDER MONTAGE DES DUSCHSATZES MIT DEM PUNKTHALTER
Seefig.4 Siehe Zeichnung 4
s Drill two @6 mm holes to the right of the shower mixing tap at the proper heightand insertwall plugs (36). ™ Rechts von der Duschbatterie, in entsprechender Hohe, 2 Offnungen @6 mm bohren und die
s Screw the fixing sleeves (35) to the wall using screws (37). Spreizdiibel (36) in diese einlegen.
s Slide the point holder (33) onto the fixing sleeves. Setthe elementin the correct position and screwinthe  m  Die Montagehiilsen (35) mittels Schrauben (37) an die Wand festschrauben.
fixing screw (34) from the bottom using a hexagon key (B). s Aufdie Montagehulsen den Punkthalter (33) aufschieben. Den Halter in richtiger Lage positionieren und
s Screw the shower hose nut (40) onto the connector (17) in the lower shower arm (15). Screw the second die Befestigungsschraube (34) mittels Innensechskantschliissel (B) festdrehen.
conic shower hose nut onto the handset connector pipe (38). Remember to fit the flat gaskets (39) inside ™ Die Mutter des Duschschlauches (40) auf den Anschluss (17) im unteren Duscharm (15) aufdrehen. Die
the both nuts of shower hose. zweite Kegelmutter des Duschschlauches auf den Stutzen des Handduschkopfes (38) aufdrehen.
m» Place the handset (38) inside the mounting holder (33). Vergessen Sie nicht, die Flachdichtungen (39) in beide Muttern des Duschschlauchs einzusetzen.

w» Den Duschkopf (38)im Punkthalter (33) anbringen.

-3 P RUS

MONTAGE DU KIT DE DOUCHE AVEC SON POINT DE FIXATION MOHTAX AYLWEBOIO KOMNNEKTA C HACTEHHbLIM IEPXXATENEM

Voire lafigure 4 Cm.puc. 4

- Percez deux trous de @6 mm f la bonne hauteur du c6té droit du robinet de la colonne de douche. Mettez  m»  C npaBoii CTOPOHbI AyLLIEBOTO CMECUTENS, HA HYXHOMN BbICOTE HEOBXOAMMO BbICBEPNUTL 2 OTBEPCTUS
dedans les chevilles expansibles (36). @6MM 1 BCTABUTb B HUX PACMOPHbIE KOMbILLKY (36).

- \/issez les manchons de montage (35) au mur f 'aide de vis (37). s C nomoLLbto 60nToB (37) NPUBIMHTUTE K CTEHE MOHTaXHbIE BTYNKM (35).

w  Enfilez le support de fixation de la douche (33) surles manchons de montage. Placez-le dansla position m Ha moHTaxHble BTYrku HafjeHbTe HacTeHHbIN Aepxatent (33). OTperynupyitte ero nonoxeHue n
désirée et vissez en serrant la vis de fixation (34) par en-dessous en vous servant d'une clefAllen (B). CHW3Y MPUBUHTUTE KpeneskHbIM 60M1ToM (34) C MOMOLLbIO LECTUrPaHHOTO Kntoya (B).

- \/issez I'écrou du tuyau de douche (40) sur le raccord (17) du bras inférieur de la douche (15). Visserle m HasuHTuTe raiiky gylweBoro wnara (40) Ha npucoeanHenme (17) B HUXHeM KpoHLLTeliHe AyLa (15).
second écrou conique du tuyau de la douche sur le manchon du pommeau de douche (téléphone) (38). BTOpyto KOHYCHYHO raiiky Ha AyLIEBOM LUNaHre HaBUHTUTE Ha KOHeL| py4Horo ayLua (38). He 3abyabTe
N'oubliez de placer des joints plats (39)  Iintérieur des deux écrous du tuyau de douche. NPOMNOXVTb NAOCKIE YNNOTHUTENbHbIE Npoknaki (39) B 06emx raikax AyLUEBOro WnaHra.

- Placezle pommeau de douche (38) sur le support de fixation de la douche (33). m [omecTuTe py4HOi Ay (38) B HacTeHHbIN aepxatens (33).

10G 2334.00 K= I NG UK I ET 7 Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKLyst no MoHTaxy 1 obcnyxvBanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF S Ty

DUSCHSATZ

KIT DE DOUCHE
KOMMMNEKT Ana aYyLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

3

INSTALACION DEL JUEGO DUCHA CON EL MANGO
Verfig.4

s Por el lado derecho de la ducha taladre 2 huecos @6 mm en la altura correspondiente y coloque dentro los pasadores (36).

s  Enrosque los casquillos de instalacion (35) mediante tornillos (37) en la pared.

s Enlos casquillos de instalacion meta el mango (33). Coldquelo en la posicion adecuada y desde abajo, enrosque el tornillo de
sujecion (34) usando lallave allén (B).

w  Enrosque la tuerca del manguito de ducha (40) en el racor (17) en el brazo interior de la ducha (15). La otra tuerca conica del
manguito enrosque en el racor del auricular de ducha (38). Recuerde poner las juntas planas (39) en ambas tuercas del
manguito.

s Coloque el auricular de ducha (38) en el mango (33).

MONTAZ ZESTAWU NATRYSKOWEGO Z UCHWYTM PUNKTOWYM
Zob.rys.4

s Po prawej stronie baterii natryskowej wywier¢ 2 otwory @6 mm na odpowiedniej wysoko$ci i wioz w nie kotki rozporowe (36).

- Przykrec tulejki montazowe (35) wkretami (37) do $ciany.

s Na tulejki montazowe nasui uchwyt punktowy (33). Ustaw go we wiasciwej pozycji i od spodu uchwytu dokre¢ wkret
mocujacy (34) kluczykiem imbusowym (B).

w Nakre¢ nakretke weza natryskowego (40) na przytacze (17) w ramieniu dolnym natrysku (15). Druga nakretke stozkowa weza
natrysku nakre¢ na kréciec stuchawki natryskowej (38). Pamietaj o zatozeniu uszczelek ptaskich (39) do obydwu nakretek
weza natrysku.

s Umies¢ stuchawke natryskowa (38) w uchwycie punktowym (33).

e

P ci

OPERATION
Seefig.5

s Lifting the lever will turn on the water and increase the flow (max. by 25°). Lowering the handle reduces and then turns off the
water flow.

m  The temperature can be increased by moving the lever to the left, and reduced by moving it to the right. The extreme left
position of the holder gives hot water only, while the extreme right position gives cold water only.

s The selection valve is used to select either the main shower head or the handset. Move the handle to the right to use the
main shower head and move the handle to the left to use the shower handset.

BEDIENUNGSABLAUF
Siehe Zeichnung 5

w Das Offnen des Wasserauslaufs und die stufenlose Einstellung des auslaufenden Wassers erfolgen mittels Stellung des
Griffes nach oben (um max. 25°). Die Senkung des Griffes schlieBt den Wasserstrom ab.

s Durch Drehen des Griffs nach links wird die Wassertemperatur erhéht; durch Drehen des Griffs nach rechts wird die
Wassertemperatur gesenkt. Die linke Endstellung des Griffs verursacht den Austritt von ausschlieRlich heiBem Wasser, die
rechte Endstellung von ausschlieBlich kaltem Wasser.

- Der Brauseumschalter dient zur Auswahl der Arbeitsmodi: das Stellen des Hebels nach rechts verursacht einen Wasserstrom
direkt aus der Uberkopfbrause, das Stellen des Hebels nach links verursacht einen Wasserstrom aus dem Handduschkopf.

-3

MODE D'EMPLOI
Voire lafigure 5

s Pour ouvrir l'arrivée d'eau et pour régler son débit, vous inclinerez la poignée du robinet vers le haut (sous un angle maximum
de 25°). L'abaissement de cette poignée coupera l'arrivée d'eau.

s Pour augmenter la température de I'eau, vous tournerez la poignée du robinet vers la gauche ; de la méme fagon, pour faire
baisser la température de I'eau, vous tournerez la poignée vers la droite. Si vous tournez la poignée du robinet jusqu'au bout
vers la gauche, seule de I'eau chaude sortira de la douche. Si, au contraire, vous la tournez jusqu'au bout vers la droite, seule
del'eau froide s'écoulera.

s Le robinet-commutateur sert a sélectionner le mode de fonctionnement de la douche: en tournant le levier vers la droite, on

A . . N o 9
"\ actionne la sortie de I'eau de la téte de douche; en le tournant vers la gauche, I'eau sort du pommeau de douche .
\
Open Position
tOLE, Gedfnet P Rus|
=1 Ouvert OBCNYXMBAHUE
Close Position W\ OTKpbITO Cwm.puc.5
GeschI0§sen \\‘ Abierto
32‘;;:?0 ¢ Otwarte w [logaya Bofbl ¥ NNABHOE PEryNMpOBaHNE MHTEHCUBHOCTM CTPYM OCYLLECTBASIETCS NyTEM OTKIOHEHWUS! PYKOSITKA KpaHa
Cerrado 25° BBEpX (Makc. Ha 25°). Onyckas pyKosiTKy, 3aKkpbiBaeM nogadyy Bogbl.
Zamkniete s TemnepaTypy Bofbl yBENM4YMBAEM, NOBOPAYMBAs PYKOSITKY kpaHa BMEBO, a yMeHbLLAEM - IOBOpaynBas Bnpaso. B kpaitHem

NEBOM NONOXEHUM TEHET TONbKO ropsiyast Boaa, B KpaitHeM NpaBOoM - TOMBKO XON0AHaS!.
- [epekmiovatoLmii knanaH npesHasHayeH ans Bbibopa pexima paboTbl: NOBOPOTOM PYKOSTKM KpaHa BMpaBO HanpaBnsieM

CTpyIo BOAbI B AYLLUEBYIO FONOBKY, NOBOpaYuBas BNEBO, HANPABMSEM CTPYI0 BOAbI B PYYHOIA AyLul.

MANEJO
Verfig. 5

w» Abrirla salida del agua y el ajuste de su chorro se realiza tras mover el mando hacia arriba (por el angulo méx. de 25°). Bajarel
mando causa el cierre de la salida del agua.

s Aumentar la temperatura se realiza tras mover el mando hacia izquierda, reducir la temperatura, hacia derecha. La posicion
extremaizquierda nos da s6lo el agua caliente, la posicion extrema derecha, sélo el agua fria.

w | a valvula de conmutacion sirve para escoger el modo de trabajo: girar la palanca hacia derecha causa la salida del agua
a través del cabezal de ducha, girar la palanca hacia izquierda, a través del auricular de ducha.

10G 2334.00 K= I G UK I ET

8 Rev. 9 May 2017




Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKkLmst no MoHTaxy 1 obcnyxvBanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF

cuTTING

EDeE DESIGN

SHOWER ASSEMBLY |

DUSCHSATZ

KIT DE DOUCHE
KOMMMNEKT Ana aYLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

-

OBSLUGA
Zob.rys.5

wody zimnej.

Zawor przetaczajacy jest przeznaczony do wyboru trybu pracy: obrét dzwigni w prawo powoduje wyptyw wody przez gtowice natrysku, obrét dzwigni w lewo powoduje wyptyw wody przez stuchawke natryskowa.

s Otwarcie wyptywu wody oraz ptynna regulacja jej wydatku nastepuje w wyniku wychylenia uchwytu do géry (o max kat 25). Opuszczenie uchwytu powoduje zamknigcie wyptywu wody.
s Zwiekszenie temperatury wody nastepuje przez obrét uchwytu w lewo, a zmniejszenie przez obrét uchwytu w prawo. Skrajne lewe potozenie uchwytu daje wyptyw tylko wody goracej, skrajne prawe wyptyw tylko

P P

P D

Para el buen funcionamiento de las baterias equipadas en reguladores ceramicos del flujo es necesaria
el agua limpia, que quiere decir el agua sin tales basuras como la arena, la piedra de caldera etc. Por
eso es imprescindible equipar la instalacion de cafierias en filtros de tela metalica, y en caso de la falta
de tales posibilidades, en valvulas particulares cortadoras con el filtro adecuadas para la bateria.

En caso de una resistencia aumentada del mando no se puede ejercer una presion mayor en la palanca
porque esto puede provocar una averia del regulador de flujo. En este caso hay que desmontar el
reguladory quitar toda la basura agrupada.

Conservarlas empaquetaduras con la vaselina o el aceite de silicona.

Limpieza de las superficies exteriores:

la suciedad o las manchas que se produjeron a causa de depositar el sarro en las superficies exteriores
de la bateria hay que quitarlas lavando la bateria sélo con el agua y el jabon, para diluir el sarro use
vinagre, después enjuague la superficie con el agua limpia y séquela con un trapo suave,

en cualquier caso no se puede limpiar la superficie de la bateria con trapos asperos o medios de
limpieza que contienen abrasivos y &cidos,

para limpiar las partes hechas de materias plasticas y barnizadas no se puede usar medios que
contienen alcohol, sustancias desinfectante o disolventes.

Periddicamente (1-2 veces al mes), limpie la parte inferior del rociador de ducha (con la mano
o0 con un pafio suave) para eliminar la suciedad acumulada en las boquillas. La falta de limpieza
periddica puede provocar el deterioro de su suerficie.

w  MAINTENANCE w  WARTUNG
Clean water guarantees that a mixer equipped with ceramic flow regulators will work correctly, i.e. th Eine Garantie fiir richtige Funktion von Batterien mit keramischen Durchflussregler ist sauberes
water should not contain any impurities such as sand, boiler scale etc. Because of this, the pipe system Wasser, dass heilt Wasser ohne solche Verunreinigungen, wie: Sand, Kesselstein, usw. Deswegen
should be equipped with sieve filters or, if there is no such possibility, with individual cut-off valves with wird die Ausriistung der Wasserleitungsanlage mit Gitterfilter gefordert, und wenn solche Filter nicht
filters designed for such mixers. vorhanden sind, soll es méglich sein, die filr Batterien bestimmte Absperrventile mit Filter zu montieren.
In the event of increased steering resistance, greater pressure should not be exerted on the handle, as Bei vergroBertem Einstellungswiderstand soll man auf den Heben keinen gréReren Druck ausiiben, da
this may cause damage to the flow regulator. In such a situation, the regulator should be removed and es eine Beschédigung des Durchflussreglers verursachen kann. Wenn es so ist, soll man den Regler
cleaned of the dirtandimpurities which have accumulated oniit. ausmontieren und die auf dem Regler gesammelten Verunreinigungen entfernen.
The seals should be maintained with vaseline or silicon oil. Die Dichtungen sollen mit Vaselin oder Silikondl gewartet werden.
Cleaning the outer coating: Reinigung der duBeren Oberflachen:
dirt or stains on the external surfaces of the mixer resulting from scale deposits should be removed by den Schmutz oder die Flecke, entstanden infolge von Steinablagerungen auf den AuReren
washing the unitwith soapy water only. Scale deposits should be dissolved with vinegar then the surface Batterieoberflachen, durch Abspiilen mit Seifewasser entfernen, den Stein mit Essig [sen, danach die
rinsed with clean water and rubbed dry with a soft cloth, Oberflache mit sauberem Wasser abspiilen und mit weichem Lappen trocknen.
under no circumstances should the surface of the mixer be cleaned with coarse cloths or cleaning Auf keinem Fall die Batterieoberflache mit rauen Lappen oder mit scheuermittel- oder séurehaltigen
agents containing abrasive materials or acids, plastic or lacquered parts must not be cleaned with Reinigungsmitteln reinigen
chemicals containing alcohol, disinfectants or solvents. ) . - Fiir die Reinigung der Kunststoffteile oder lackierten Teile kann man keine alkoholhaltige Mitteln,
Plastic or lacquered parts must not be cleaned with chemicals containing alcohol, disinfectants or Desinfektions- oder Lésungsmitteln verwenden.
solvents. ) ) Die Kopfbrause muss regelméRig (einmal im Monat bzw. in 2 Monaten) und griindlich von der
Regularly wipe the lower part_of the rainshower head_ thoroughly (with younl'lpalm or a soft Unterseite abgewischt werden (mit der Hand oder einem weichen Tuch), um Verunreinigungen
CIOt'l‘t)? o:ce eve;y :hz '“°T““5'f't'r‘1 ordg r tﬁ remt:]ve :ny dirt from the nozzles. Failing to do so may zu entfernen, die sich in den Strahldiisen ansammeln. Das Unterlassen dieser Tatigkeit kann zur
resultn damage to the casing of the rain shower head. Beschédigung der Strahlscheibe fiihren.
P F | P Rus|
s ENTRETIEN w  KOHCEPBUPOBAHUE
La garantie du fonctionnement correct de la robinetterie équipée en régulateurs de flux céramiques est [apaHTven npaBunbHO paboTbl CMecuTenen, OCHALLEHHbIX KepaMUYeckuMn perynstopamu
I'eau propre, c'est-a-dire une eau qui ne contient pas de polluants tels que: sable, tartre, etc. Pour cette NpoTekaHusl, ABNAETCA YNCTas BOAA, T.e. KOTOPas He COLEPKMT TakiX 3arpsidHeHWn, Kak : necok,
raison, il est exigé d'équiper les installations d'eau en crépines et, en cas d'absence d'une telle Hakumb, M T.N. B cBA3n C BbilleckadaHHbIM, TpebyeTcs oCHalleHWe BOAOMPOBOAHONM CUCTEMbI
possibilité, en vannes d'arrétindividuelles avec unfiltre destiné a la robinetterie. ceTyaTbiMu punbTPaMK, @ eCrv 3T0 HEBO3MOXHO, MHAMBMAYyamnbHbIMKA 3aNOPHBIMM - KranaHamu
En cas de résistance accrue de la commande, il est interdit d'exercer un plus grand appui sur le levier € pUNbTPOM, NPeAHa3HA4EHHbIMI A5 CMecUTenel.
car cela peut provoquer I'endommagement du régulateur de flux. Dans ce cas, il faut démonter le B cnyyae noBbILEHHOMO COMPOTUBMEHNS MPW PErynMpOBaHUM 3anpeLyaeTcs yBEnMumMBaTb Cuny
régulateur etenlever les polluants quis'y sontrassemblés. HaXV1Ma Ha pblyar, T.K. 3T0 MOXET MPUBECTU K MOBPEXAEHNIO Perynstopa npotekanus. B atoi
Entretenirles joints d'étanchéité avec de la vaseline ou de I'huile de moteur. CcUTyaLun HeobX0aNMO IEMOHTUPOBATb PErYNISITOP U OYUCTUTb €70 OT 3arPSI3HEHUIA.
Nettoyage des couches externes: YNNOTHEHWs KOHCEPBUPOBATL BA3ENMHOM Wi CUIIMKOHOBBIM MaCcroM.
éliminer les salissures ou les taches apparues suite au dépot du tartre sur les surfaces externes de la OuymcTKa HapyXHbIX NOBEPXHOCTEIA:
robinetterie en la lavant uniquement avec de I'eau et du savon ; pour dissoudre le tartre, utiliser du 3arps3HeHne Unu NATHa, BO3HWKLIME B pesynbTaTe OCeAaHUs KaMHS Ha BHELLHUX NOBEPXHOCTAX
vinaigre, rincer ensuite la surface avec de I'eau propre et essuyer avec un chiffon sec et doux, CMeCHTENs, CMbIBaTb UCKMIOYNTENBHO BOAON C MbIfIOM, ANSt PACTBOPEHUS KaMHSt NPUMEHSTb YKCYC,
en aucun cas, il ne faut nettoyer la surface de la robinetterie avec des chiffons rugueux ou des produits 3aTeM NPOMBITb MOBEPXHOCTb YMCTOM BOLOM U AOCYXa BbITEPETH MATKOM TPSANOYKON,
de nettoyage contenant des matériaux abrasifs et des acides, HW B KakOM Cny4ae Hemb3s YACTUTb NOBEPXHOCTb CMECUTENS LUepOXOBaTbIMK TPANOYKaMU UnK
il est interdit d'utiliser, pour le nettoyage des parties réalisées en matiére plastique et vernies, des YMCTSILLMMM CPELCTBAMM C COlepXaHNEM abpasiBHbIX KOMMOHEHTOB U KUCIOT,
produits contenant de l'alcool, des substances de désinfection ou des dissolvants. QNS YACTKA ONEMEHTOB, BBIMOMHEHHbIX M3 NNAcTMacchl WNKM akvpoBaHHbIX, 3anpeLiaeTcs
Périodiquement (tous les 1-2 mois), essuyez soigneusement le fond du pommeau de douche (a UCroNb30BaTh CPEACTBA, COAEPKALLVE ankorors, A3UHULMPYIOLLE CPEACTBA UM PACTBOPUTENH.
la main ou avec un chiffon doux) pour éliminer la saleté accumulée dans les buses. Le Mepunoanyeckm (oaunH pa3 B 1-2 Mecsaua) cneayeT TWaTensLHO NpoTepeTb AOKAEBaTENb CHU3Y
manquement a cette opération peut conduire & 'endommagement du revétement extérieur du (PyKO# MNU MATKOW TPANKOW) C LIeNbH0 YCTPAaHEHUs 3arpA3HEHMIA, CKOMMEHHbIX B connax.
pommeau de douche. HeBbinonHeHe 3Tol onepaLyi MOXET NPUBECT K NOBPEXAEHNIO KOXyXa AoXAeBaTeNs.
-3 P pL |
w  CONSERVACION s KONSERWACJA

Gwarancjg, prawidiowego dziatania baterii wyposazonych w ceramiczne regulatory przeptywu jest
czysta woda, to znaczy nie zawierajaca takich zanieczyszczen, jak: piasek, kamien kottowy itp.
W zwiazku z powyzszym wymagane jest wyposazenie instalacji wodociagowej w filtry siatkowe, a
w przypadku braku takich mozliwoéci w indywidualne zawory odcinajace z filtrem przeznaczone do
baterii.

W przypadku zwiekszonego oporu sterowania nie wolno wywiera¢ wiekszego nacisku na dzwignie,
gdyz moze to spowodowa¢ uszkodzenie regulatora przeptywu. W takiej sytuacji nalezy wymontowa¢
regulatori usuna¢ zgromadzone w nim zanieczyszczenia.

Uszczelki konserwowac wazeling lub olejem silikonowym.

Czyszczenie powtok zewnetrznych:

brud lub plamy, powstate w wyniku osadzania sie kamienia na powierzchniach zewnetrznych baterii,
usuwaé przemywajac baterie wylacznie wodg z mydiem, do rozpuszczania kamienia uzy¢ octu,
nastepnie przeptuka¢ powierzchnie czysta woda i wytrze¢ do sucha miekka szmatka,

w zadnym przypadku nie wolno czysci¢ powierzchni baterii chropowatymi $ciereczkami lub $rodkami
czyszczacymizawierajacymi materiaty Scierne i kwasy,

do czyszczenia czg$ci wykonanych z tworzywa sztucznego i lakierowanych nie wolno uzywaé $rodkéw
zawierajacych alkohol, substancje dezynfekujace lub rozpuszczalniki.

Okresowo (raz na 1-2 miesiace) nalezy doktadnie przetrze¢ od spodu deszczownice (dtonia lub
migkka szmatka) w celu usunigcia zanieczyszczen zgromadzonych w dyszach. Nie wykonywa-
nie tej czynno$ci moze doprowadzi¢ do uszkodzenia ptaszcza deszczownicy.

10G 2334.00 K= I NG UK I ET

Rev. 9 May 2017



Instructions for assembly and use * Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpyKumst no MoHTaxy 1 obcnyxuBanmio « Instruccion de Montaje y Servicio * Instrukcja Montazu i Obstugi

GRAFF A Ty

DUSCHSATZ

KIT DE DOUCHE
KOMMMNEKT Ana aYyLA
CONJUNTO DE DUCHA
ZESTAW NATRYSKOWY

P

w  GUARANTEE: s GARANTIE:
The guarantee conditions are contained on a separate sheet. Die Gewahrleistungsbedingungen sind auf dem separaten Blatt.
w [N THE EVENT OF A PROBLEM: m  SOLLTEN PROBLEME AUFTRETEN wenden Sie sich an uns
e-mail: graff@graff-mixers.com e-mail: graff@graff-mixers.com
s GARANTIE: w TAPAHTUSA:
Les conditions de garantie se trouvent dans une feuille séparée. [apaHTuitHbIE YCNOBUS Ha OTAENbHOM NUCTe.
w EN CAS DE PROBLEME: e ECITU BO3HUKHET NPOBJEMA:
e-mail: graff@graff-mixers.com e-mail: graff@graff-mixers.com
m  GARANTIA: s GWARANCJA:
Las condiciones de la garantia se encuentran en otra hoja. Warunki gwarancji s zawarte na osobnej kartce.
w EN CASO DE PROBLEMAS: - GDY POJAWI SIE PROBLEM:
e-mail: graff@graff-mixers.com e-mail: graff@graff-mixers.com
10G 2334.00 =1 IEN I R A G 10 Rev. 9 May 2017



